ooooooDs ‘\eO0000od
OooraE =EECO00
OO0 AEE EEROOCO00)
A OO0 EEEE W R0
INSTALLATION NOTES: CfomEEEE EEEERC -
- . TANK FITTED WITH A VALVE AND INTERNAL SIPHON TUBE. MMEEEEEE EEEEEED
GAUGE NAMEPLATE IS ADHERED TO THE TANK DISPLAYING THE D..--.'- -n....nu
P/N 570055 AGENT WEIGHT AND GROSS WEIGHT. TANKS ARE
THESE SPECIFICATIONS ARE TO APPLY TO ALL INSTALLATIONS OF SAPPHIRE FIRE OULET SUPERPRESSURIZED WITH DRY NITROGEN TO 360 PSi (25 LE L L L] e L] ]
DATA ROOM (Rm. A133)
® P/N 570059
NOTE: PIPE SHALL CONFORM TO ASTM/NFPA 2001 2-2. COMPONENT MATERIAL APPROVALS
i?ﬁi%gff TANK STEEL DOT4BW450
VALVE BRASS
1. ALL THREADED PIPE TO BE BLACK STEEL OF THE FOLLOWING PIPE SIZE AND GRADE COMBINATIONS. RN TR
ASSEMBLY ULC LISTED
PIPE REFERENCE PIPE TYPE & NOMINAL SIZE CONNECTION BRACKET FM APPROVED
. OH\T/‘R%LS ASTM A-106 SEAMLESS, GRADE C SCH.80 _ 1/8"-8" NPS THREADED [ /
b 4 ;- 3
o 74 47K P 81 47K ASTM A-106/A-53 SEAMLESS, GRADE B SCH.80  1/8"-8"NPS THREADED = F 7T o 5 5 ;
© = 8 | %‘{Oz,f” 6 = B |k %15/33“ ASTM A-106/A-53 SEAMLESS, GRADE A SCH.B80___1/8"-8" NPS THREADED " WARNING A N BoeNDS ARCHITECTS, INC.
e = 90| |lpressure Lee =  9¢ | |[PRESSURE ASTM A-53 ERW, GRADE B SCH.80  1/8"-8"NPS THREADED e 3 NOVEC 1230 FIRE
sk )| o 68 T g4 k()| Jre (4 oy (8 - TH85 SPACE IS PROTRCTED BY A SAPRIEAE™
1 L T AN TANK ASTM A-53 ERW, GRADE A SCH. 80 1/8"-8" NPS THREADED FIRE SUPPRESSION SYSTELS FEENGAEL EASED 5500 MING AVENUE SUITE 280
TANK ASTM A-53 FURNACE WELD CLASS F SCH.80  1/8"-1 1/2" NPS THREADED WHEN SYSTEMIS DISCHARGED AS A RESULT , SoppHRE BAKERSFIELD, CALIFORNIA 93309
& ASTM A-53 FURNACE WELD CLASS F SCH.80 2" 8" NPS THREADED 53.3" EXPOBUNE 10 PRODUCTS OF couBusTioR, | e TELEPHONE (661) 832-5258
— ASTM A-106 SEAMLESS, GRADE C SCH.80  1/8"-8"NPS WELDED oo NoTENTERWITHOUT AppRovip s | L VOENT DISCHARGE
ZONE 1 l @CE:‘ S Y ASTM A-106/A-53 SEAMLESS, GRADE B SCH.80___1/8"-8" NPS WELDED 43.5 COMTANED BREATIONG APRARATUS OR WARNING SIGN FACSIMILE (661) 8324291
RS (=} * 2 EoL ASTM A-106/A-53 SEAMLESS, GRADE A SCH.80 _ _1/8"-8"NPS WELDED ~
- o -4 e é\%ﬁ'g}r{ ASTM A-53 ERW, GRADE B SCH. 80 1/8"-8" NPS WELDED S&??ﬁig%ﬂ
1/2W R 3 ASTM A-53 ERW, GRADE A SCH. 80 1/8"-8" NPS WELDED : SUPPREINCIT IICEAD
1j72'§v{E FoL b mo_| ] ASTM A-53 FURNACE WELD CLASS F SCH.80 _ 1/8"-6" NPS WELDED @ —.
EOL 2 Y v e WARNING SIGN
oM 1 FCM—1 2. PIPE GRADES MUST BE SUITABLE FOR THE PRESSURES CALCULATED BY ANSUL’S FLOW CALCULATION 3
HORN/ M- PROGRAM. CONSULT THE CHART IN THE SAPPHIRE DESIGN MANUAL OR NFPA 2001 FOR MAXIMUM o . o)
STROBE - L PIPE PRESSURES FOR THE DIFFERENT PIPE GRADES. - G S L o riE ENTERING No. C-14728
' MAY 31, 2013
N AL ADDRESSABLE SMOKE 3. ALL FITTINGS TO BE 300 lb. ANSI B-16.3 BLACK MALLEABLE IRON THREADED FITTINGS THROUGH 3"
DETEGTOR, (0RZATION) SLC LOOP SIZE. FORGED STEEL FITTINGS TO BE USED FOR LARGER SIZES. FLANGED JOINTS TO BE CLASS 600 Ib. TR
(CLASS 300 MALLEABLE IRON UNIONS OR STREET ELBOWS SHALL NOT BE USED.) L ———sonner e P THREAD
REL — 47K e +lg ) L | ’
( 9 9 ' > v r > ‘
re0 m _— 0 = ! FITTING DESCRIPTION PIPE SIZE o u U MW ANAAL N
e ADDRESSABLE SMOKE . , :
o & =" © DETEGTOR (PHOTO) CLASS 300 MALLEABLE OR DUCTILE IRON UP TO OR < 3 in. NPS 2 <0 ANW E. ORDIZ, A
- 20 = 99 FSP-751 - |+ 1000-Ib RATED DUCTILE IRON OR FORGED STEEL > 3 in. NPS AL ARCHITECT C-14.728
WA wan geserve (471020 w0 ) - CLASS 300 FLANGED JOINTS ALL '
24 VOLT SWITCH ~EOL0 G J ;72@{ .__r[: ADDRESSABLE y WILLIAM J. MELBY, AIA
ACTUATOR e =0 EOL —pe-#)|PULL STATION ] ARCHITECT C-16,835
RESERVE —& el | 4. ALL FITTINGS USED TO CONSTRUCT THE MANIFOLD, INCLUDING FITTINGS BEFORE . PISTON 33"
24VOLT ( : [ o THE ORIFICE UNION TO BE BLACK FORGED STEEL 2000 Ib. OR 3000 Ib. ANSI B-16.11. P ASSEMBLY G G A D R
ACTUATOR KEY~OPERATED = —| <
LOCK-QUT SWITCH Al 9
asdprs - S 5. ALL PIPE, FITTINGS AND MANIFOLDS TO BE SUPPLIED BY OTHERS. A <y —— IDENTIFIGATION STAMP
»4 DIVISION OF STATE ARCHITECT
sl Wiy Josom 6. PIPE LENGTHS GIVEN ARE FROM CENTER-TO-CENTER OF FITTINGS. OFFICE OF REGULATION SERVICES
REL — 47K ) 7. ALL DIMENSIONS ARE TO FIELD CHECKED, ANY DEVIATIONS FROM THE ] 21]_\1 4 APPL. #:02-112027
¥ ARRANGEMENT SHOWN WILL REQUIRE COMPLETE REVIEW OF THE FLOW e
e CALCULATIONS BY THE DESIGNER. FILE #: 15-6
BURST DISC MATERIAL THREAD TYPE | APPROVALS W m C:Z
8. REAM AND CLEAN EACH PIPE SECTION INTERNALLY AFTER PREPARATION AND BEFORE BODY: STEEL " BSPP UL LISTED AC F ) 8s .
ASSEMBLY BY MEANS OF SWABBING, UTILIZING A SUITABLE NON-FLAMMABLE CLEANER. SWIVEL NUT: BRASS ULC LISTED FM DATE JAN 2 0 2012
4 THE PIPING NETWORK SHALL BE FREE OF PARTICULATE MATTER AND OIL RESIDUE ACTUATION PIN: APPROVED
{ BEFORE INSTALLATION OF NOZZLES OR DISCHARGE DEVICES. STAINLESS STEEL
PTN # 63321112
1 ] 9. ALL DISTRIBUTION PIPE AND FITTINGS MUST BE ASSEMBLIED USING PTFE PIPE VALVE DETAIL FLECTRIC ACTUATOR DETAIL
TAPE DO NOT ADD TO THE FIRST TWO THREADS NEAREST THE END OF THE PIPE. — o
10. CYLINDERS AND PIPE TO BE SECURELY BRACKETED-ESPECIALLY AT FITTINGS AND NOZZLES.
— ()2 X4 STUD @ 16" O.C. IN
) 11. ALL DEAD END PIPE LINES TO BE PROVIDED WITH A DIRT TRAP. T UNISTRUT ATTACHED TO STUD
WITH 1/2" X 0-3 LAG SCREW.
F AC P ) 12. SIZE REDUCTION CAN BE ACCOMPLISHED WITH THE USE OF REDUCING BUSHINGS, /
REDUCING COUPLINGS, REDUCING TEES, OR REDUCING ELBOWS.
=X
(SEE ELEC. . © ooy 3 Q@péee 4@@@@@%@|@@@@®gmq> e © N /\
S o eyl i T LEGEND - - NEW ELEMENTARY
® A BATT. sz' i TERM. a2
P I__ A N S S @ Fewee ™ DN | 21 ® SYMB |QNTY| MODEL # DESCRIPTION CSFM # SCHOOL
) 9 b gmsw 29 © 9801 HIGHLAND KNOLLS DR
g : JP10-0 @ 1 434957 AUTOPULSE IQ 318 RELEASING PANEL 7165-0595-0117 BAKERSFIELD
ol || MR 2 076496 | MAIN/RESERVE SWITCH CALIEORNIA
@— > CONTROLS [=) Deal 2 076494 | ABORT SWITCH, SURFACE MOUNT 93306
POWER [=] (sP 2 432288 | FSP-851 PHOTO SMOKE SENSOR ON B710LP BASE 7272-0028:0206 ) , \ )
. .l PRE . s) 2 432287 | FSI-851 ION SMOKE SENSOR ON B710LP BASE .7271-0028:0201 . - N COMPONENT__IMATERIAL { THREADS _JAPFROVALS NEW MIDDLE SCHOOL
® fa || rer DlSCHARGE.l:=zl / \./ 1/2" NOZZLE BRASS 1/2" NPT UL LISTED ULC
o I || cAl 2 428658 | MANUAL PULL STATION, SPST WITH FMM-101 7150-1408:0107 & 3/4" NOZZLE 3/4"NPT | LISTED FM 4115 VINELAND ROAD
|® |f o DISCHARGE =) = = = = = 75 ) - L u APPROVED
—— FIRE  PRE-ALARM SECURITY SUPERVISORY SYSTEM  SGNALS  POINT <] 2 433357 | PRE-DISCHARGE HORN WITH STROBE (75 CD) 7125-0785:0155 — /_{_ 5/8" DRYWALL CUT 1_ NOZZLE 1_ NPT BAKERSFIELD
O~ ABORT TROUBLE  SILENCED  DISABLED AWAY FOR DETA 1-1/4"NOZZLE 1-1/4" NPT
Sl wome = A SYMB | QNTY | MODEL # DESCRIPTION CSFM # TR LVENOZZLE DV NPT CALIFORNIA
® |l e || Tes 2" NOZZLE 2" NPT 93306
® || e || NeC -
= D] @ 2 570640 SAPPHIRE CYLINDER W/ 225 LBS OF AGENT
LAMP A 7 570537 CECTRIC ACTUATOR MOUNTING BRACKET DETAIL 180° DISCHARGE NOZZLE DETAIL
TEST s FOR
&) 4 570585 CYLINDER LOW PRESSURE SWITCH .
. omm Smggg 2 076498 KEYED MAINTENANCE SWITCH, SURFACE MOUNT
S :C 2 T W s.:gs\é?& G 2 417805 6" 24 VDC PRE-ALARM BELL 7135-0595:0110 TA N K D ETAI L S BAKE RS F | E L D C ITY
S 2“’2 om (1) 153 2 433352 DISCHARGE STROBE (15 CD) 7125-0785:0141
Sl - SCHOOL DISTRICT
® |jne &k T BATTERY INCREMENT N'T'S'
AL TRoUBLE (e mm SYMB | QNTY MODEL # DESCRIPTION CSFM #
lé——Nc—N—FcT—wlm © 1300 BAKER STREET
\_ @) O89S — o315 ©) Y, CR 2 436861 RELEASE MODULE 7300-0028:0249 BAKERSFIELD
- J | J © 6 428110 CONTROL MODULE 7300-0028:0219 CALIFORNIA
{ M 10 428098 MONITOR MODULE 7300-0028:0219 93305
® 2 428102 RELAY MODULE 7300-0028:0219
2 417480 ISOLATOR MODULE 7300-0028:0261
‘ 2 DISCHARGE NOZZLE
T-0O" A
El-N| ——=O 2"
;9 D AN R
= MARK  DATE DESCRIPTION
it ATA
A133| D /N
3" MANIFOLD
STRAP TO WALL. REFER TO A Y ; / A\
STRUCTURAL DETAIL -/5-
FOR BACKING MATERIAL. ! é
SAPPHIRE GAS CYLINDERS
REFER TO DETAIL A/M-512, Q
THIS SHEET. ;
........................................... O
JOB NUMBER:
................. i
* 200101244
CAD DRAWING FILE:
MECHANICAL PIPING DIAGRAM - o
FIRE SUPPRESSION SYSTEM oizr
CHECK AND VERIFY ALL DIMENSIONS BEFORE
DIAGRAMMATIC PROCEEDING WITH THE WORK.
REPORT DISCREPANCIES TO THE ARCHITECT.
THE DRAWINGS, IDEAS, AND DESIGNS
REPRESENTED ON THIS SHEET ARE THE
PROPERTY OF THE ARCHITECT.
COPYRIGHT
ORDIZ-MELBY ARCHITECTS, INC. 2010
BN R
SHEET TITLE
8 w » \ SHEET IDENTIFICATION NUMBER
MECHANICAL DESIGN CONCEPTS, INC. M 5 1 2
]
5500 Ming Ave, Suite 251 Bakersfield, CA 93309
Tel #: (661) 397-2114 FAX #: (661) 397-2116
Job: 09091 Pit: 1-11-12
FEEREEEE HEDEEEEE




